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UWA DATA LOG: SHRIMP ZIRCON U-Pb

Date UWA Mount No. Whose sample? Operator(s)
7//L/46 gé-473 Lo Ly 1MW
Indicate any change to the following: 196 204 bkg 206 207 208 238 248 254
Precambrian Count time (secs): 2 10 10 10 30/§ 10 5 5 2
Phanerozeie*— Delay time (secs): Ag 3 1 2 1 1 3 2 2
expected 196-204 = 8.170 amu expected 204-bkg = 0.040 amu Dead-time = ?2 nanosecs
/\ actual 196-204 = .......cccvereveneee. actual 204-bkg = .....ccceeveeeirineennnns expected resolution = >4200
A2 I actual 206-207 = ......ccceeveueeeinnnen. actual 206-208 = .......cccccereemeeseneses actual resolution = .......c.cccceeueunene
Qé’h’ {/ Primary = .....cceueeee. nA PESABM= ............. pA actual Primary : PESABM (= 50:1) = ..coeeeveeverne
Raster time (mins): ........: Z— ......... Raster aperture (microns): ..... /&O ........ No. of scans: ..........! 6 .......
Comments: /9 \-C 3 TAF/B s 4 e
6
Rejection Sample/ Time- UOM 196 206 U 204pp 06 Age +1c (Ma)  Corr.
over-ride Std ID printout cps cps ppm  ppb % 206/238  207/206
of A-i |00:35|G & | 9.2 | ie§[ | 208 | ~ve-|. 03| 6BAL] |Gret23] 208
sl-4-2ee:53(6.9 |90 | 1029|202 | 0-C |+ 00| s34+ | Gozr | 228
[ A1) [ov21| 6.9 |95 |959 | kol -9 |.09| 604t |bTit4s| 204
“|A-1a-t 04l .9 |8 7] 1320|224 40 07| Gzt | gaotud 204
¢f.j-3 |ozoS| 0 (90 [0Fo|laS| 4-5 | .15 57 589134 2 08
A l6-1| 0226150 |94 | 643 | 103 |~re- | — | 5352 | soid2p| —
L’HS"‘ 03:0016-5 (3.1 [F0] |20% | v |— |52l 6372t —
.......................... B R R B L T e Ty AR RO
A 11033 7.1 [9-3 [ 490 |76 |o-4 |. 09| 584t 2| 6l6 tex| 294
A2 -2103:4]1 69 |9-4 e |19 | 1-6 | .39| btz | 46185 204
S5 a-uloao| (69 |24 |8l [eo| 02| -0)|59t | — |2
dof *|A-R-1 |0421[6- 7 |- F| 300 63 |91 |25 |59+ |BHD |4




Mount/sample No: 96 A‘(?Z ........ Date: 07/2 ............... Page No Oa ........
Rejection  Sample/ Time - Uo/lu 196 206 U 204pp foo6 Age 10 (Ma) Corr.
over-ride Std ID printout cps cps ppm  ppb % 206/238  207/206
............ A-) |ousnl 69190 | 89| 144) 42| 14| Gozs/ | 531 0] 204
A5l | 05| T-0 [ 44 |esss [1oq |44 | 19| 58912 | SBer 50| Lo4
LA 10520 6.3 93] B0 | 188 | —reywo2| @3t | Garag) 208
e AL oG SE 69| M0 | 539) 8P |03 | :0F| 6P 2] 636233 o0
§0.4-5 |06:16| 3.1 (4.2 1030|190 1.4 | 00| 5204\ | 93| Lap
a4 |00 F2 | Ak| BS|69 | 43 | .32 | Gotd |5TIENS| k4
A3 | %5310 148 | 260|5 ¥ 0:) | ;4] bephat| STty 204
............................................................................................................... RN CT—
............................................................................................................. }............. csessane
........................................................................... SN ISR S




